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Division
Worksheet-3

THE SECRET TO GETTING AHEAD IS GETTING STARTED
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1. Tony had 4375 phone cards. He gave away 20 of them and placed the rest equally into
65 groups. How many phone cards were there in each group?

A. 54 B. 67 C.76 D. 45

2. When a number is divided by 5, the quotient is . What is the quotient when the same
number is divided by 307

Al B. 10 C. 100 D. 1000

3. There are 90 biscuits in Box A and 210 biscuits in Box B. How many biscuits from Box B must
be transferred to Box A so that there will be twice as many biscuits in Box B as in Box A?

A.10 B. 8 C.6 D. 15

4. Each expression shown below has the same value. Which of the following has the same value

as each of the three expression above?

A72:6 8x3

B.72:3 6 x4
C.144 : 3
D.144 :9 48 -2

5. 152 chocolates were equally distributed amongst 16 children in such a way that each child
gets 9 chocolates. How many chocolates were left over?

A.8 B. 12 C.14 D. 144

6. Arjun had 2100 marbles. He put them into bags of 8. How many marble(s) were left?

Al B. 2 C.3 D.4

7. Instead of dividing a number by 3, Kiran multipled it by 3. His answer was 81. What should be
the correct answer?

A9 B. 27 C. 243 D. 729

8. The product of two numbers is 476. If one number is 34, what is the other number?

A.104 B.14 C.24 D. 442




9. Ajit arranged some marbles in the manner shown here. Which of the following division facts
is best represented by this grouping marbles? (All the marbles must be considered)

A. 21+ 5 gives quotient 4 and remainder 1
B. 21+ 7 gives quotient 3

C. 20 : 5 gives quotient 4

D. 5 : 4 gives quotient 1 and remainder 1

10. A bottle contains 11 tables. How many bottles would be required to contain 1111 tables?

A. 91 B. 1001 C. 101 D. M




